Total number of printed pages—-15
3 (Sem-5/CBCS) ZOORE 1/RE 2

2021
(Held in 2022)

ZOOLOGY
( Regular Elective )

Answer the Questions from any one Option.

OPTION-A
Paper : ZOO-RE-5016
( Animal Biotechnology)
Full Marks :-60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

1. Choose the correct option of the following :
(any seven) 1x7=7
(a) Introduction of foreign gene in host
genotype is called
(i) pathology
(ii) embryology
(iii) genetic engineering
(iv) genetic diversity
Contd.



(b) The science of engineering and
technology applied to life sciences is
called

(i) tissue culture
(ii) biotechnology
(iii) embryology '
(iv) developmental » biology

(c)' Humulin is associated with
(i) - -vaccine production
(ii) - gene-therapy «:
(iiij) tissue' culture =y
(iv) human ‘insulin |
(d) AGener'ally réstriétiori-énéyfnes are

isolated from

(i) prokaryotes
i) fungissiisn of sqyic
(iii) algae

(iv) . protozoans
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(e) Which of the following is used to join
the foreign DNA to host genome ?

(9

(i) DNA gyrase
(i) ligase

(iii) helicase

" (iv) endonuclease

Plasmid is normally found in
(i) chromosomeé

(i) chloroplast ‘

(iii) prokarsfotes

(iv) * mitochondria

Ti plasmid vis found in

(i) _rhizobiuﬁ

(i;') yeast

(i) viruses

(iv) agrobacterium
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3.

(h) Who got the Nobel Prize for inventing
PCR?

(i) Kary B. Mullis
(i) H.O.Smith
(iii) Alec Jeffreys
(iv) Paul Berg

Answer the following : (any four)

2x4=8
(a) Define restriction endonuclease.
(b) Write on cloning vector.

(c) Why is cell culture system referred to
as in vitro system ?

(d) Write on cell line.

(e) Where do you find stem cells in human
body ? )

() Define molecular farming.

Write on the following : (any three)
5x3=15
(a) BAC as cloning vector

(b) Southern blotting
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(c) Knockout mice
(d) Cystic fibrosis

(e) Gene therapy

Answer any three from the following :

10x3=30

How does restriction endonuclease differ
from restriction exonuclease? What are
the characteristics of type II restriction
endonuclease ? Describe the role of
restriction endonuclease in gene

manipulation. 2+3+5=10

In cloning, what is the mechanism and
process of selection of transformed cells ?
Describe in brief about direct gene transfer
by electroporation. 6+4=10

Define transgenic animal. What are the
differences between transgenic animal and
hybrid animal? Describe the process for

transgenic animal production.
2+2+6=10
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SRR,

7. Describe in brief the method of DNA
sequencing by Sanger method. 10

8. What is DNA fingerprinting ? Discuss
different methods of DNA fingerprinting.

2+8=10
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OPTION-B
Paper : Z00O-RE-5026
(Applied Zoology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Choose the correct option : 1x7=7
w% Rewoo 3o SFred &
(i) The infective stage of Plasmodium vivax
for human is

(@) merozoite
(b) - sporozoite
(c) trophozoite
(d) ookinete
(e

(a) CRER
(b) ~RTRE
(c) TEER
(d) PR
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(i) The association of algae and fungus ip

(i)

lichen is an example of
(a) endocommensalism
(b) ectocommensalism
(c) facultative mutualism

(d) obligatory mutualism

RS I CTRA T (ST ITTIHCO!
TR TR 2?2 o

(a) TEAClES!
(b) JRECSIETel
(c) RR TRerRel
(d) TR TRt

T . .
: he causative organism of the disease
louse-borne typhus’ is

‘IR Hizz’
= @HIER PR el

(a) Rickettsiq prowazekii
(b)  Rickettsiq typhi
(¢)  Rickettsiq rickettsii

(d)  Rickettsia conorij
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(iv)

(v)

(vi)

Which of the following is known as ‘Old
World hookworm’?

G I AR ctAd Zg6t cor 4 T
a2

(a) Ancylostoma duodenale
(b) Wuchereria bancrofti
(c) Enterobius vermicularis
(d) Ascaris lumbricoides

Which of the following is a major pest
of cotton?

SR PIACH! TR B T A TR ZA?
(a) Sitophilus oryzae

(b) Helicoverpa armigera

(c) Tribolium castaneum

(d) Papilio demoleus

The insectivorous fish used for
mosquito control is

7 FER AR JRRAW sezaTera W [y
[£163

(a) Labeo bata

(b) gambusia sp.

(c) Labeo rohita

(d) Catla catla
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2.

(vii) Which of the following is not an exotic

breed of fossils?

T (R IR TS IS FZA 2
(a) Aseel

(b) Leghorn

() Rhode Island Red

(d) Minorca

Answer the following questions : 2x4=8
O 2PPTIRR Teq ol ¢
() What is the difference between

(ii)

(iti)

commensalism and mutualism ?

Teifere! Wi FRleRiReR e e &2

g

2R s ¢ :
melw WW?&%WW%

Name the i
Primary vector fo
ziéhogens causing (a) bubonic 1r e
(b) dengue fever, pegas,
OR[N
A4 AR AN 8
(@) Jf (@5) con Sk
(b) =% 77
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(iv) What is the main objective of genetic

improvement in aquaculture ?

e SR A (RIS T T (SREE)
B A 1 SUReD (2

3. Answer the following questions : (@any three)

5x3=15
oo enpTa Baa i ¢ (R fefw)

(i) . Write the general characteristics of

parasites. S

ST A AR B

(i) What is’ the causative organism of
typhoid ? Write about its mode of
transmission and prevention. Also write
about the diagnosis and control of the

rdisease. 1+(1+1)+(1+1)=5

%ﬁﬁw@cmwaaﬁkﬁﬁéﬁmﬁrﬁw~ﬁiéﬁmim
-4 o eferE Rae IGRIRGKIAS]
@iooR e e el FAeE for |
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(iti)

(iv)

(v)

Name the disease caused by Treponema
pallidum. Write the morphological
characteristics of the pathogen in brief.

1+4=5

Treponema pallidum-4 3% 1 QIR TN

F? @@ GROR agies @FerT Raw
o o

Mention the damages -and control
measures for the following pests :

2%+2%=5

T i T TR 31 T s e
et =t T S = s

(@) Pyrilla perpusilla

" (b)  Papilio demoleus

What are the pre-requisites of effective

(breeding in fowls to get high-yielding

and good quality breeds ?
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4. Answer the following questions :

10x3=30

e ST Bed foral ¢

(%)

(i)
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Describe the life cycle of Plasmodium
vivax with a note on its pathogenicity.
8+2=10

Plasmodium vivax-3 GROE R I

4 SR TS TR @EFOR 697 b (Bt
feran|

OR / 7Z

Describe the life cycle of Trypanosoma
gambiense with a note on its
pathogenicity. 8+2=10
Trypanosoma gambiense—?@ﬂﬂmﬁm
2l T W SIS W @IIEREOR 8ATe

@S ot el

Describe the life cycle of Wuchereria

bancrofti with a note on its
pathogenicity. 8+2=10
Contd.



(i)

Wuchereria bancrofti-3 @6 Rt 3
2 S SIS 2R (@ITTAFOR 69 it (BIet
feran

OR [ 73

Write about the medical importance and
control measures of the following

insects : 5+5=10
TR AO1ARR PiFRTns ooy wis Piges
e 3t i R o g

(@) Pediculus humanus corporis

(b) Anopheles sp.

Write the techniques for preservation
of semen of a bull.' How 'is ‘artificial
insemination’ done in cattle ? Mention
the advantages and disadvantages of
artificial insemination .in cattle,
2+3+5=10
I o= T iR A Tz <
TR R Bt ok e Flam
STRCFAY @R w1 e e
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OR / Af33t

Describe the steps of induced breeding
technique in fishes. What are the

demerits of induced breeding?
8+2=10

MR CFae RIS (SD) ﬁw/m
orfiE 3R 31 | i e R
15
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